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- Note:— Answers may be written either in Englzsh or in Hindi; but the same medium

" should be used throughout the paper.
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_ A Attempt all questzons
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1L Attempt any three of the followmg ‘ | | . 4X3=12
ﬁﬂﬁfﬁaﬂﬁﬁwmmwm| S

.(i)' o How is a sentence dlfferent from a proposition? Di,scussvwith_examples.
eIt (am)éammmﬁm%? Waﬁa‘ﬁaﬂwa‘)ﬁml

(ii) - "The truth or fals1ty of an argument s conclusion does not by 1tself determme the |

- validity/invalidity of the argument” — Elucidate. . '
gﬁﬁa%ﬁesﬁﬁmmmma gﬁﬁﬁﬁﬂﬁt/aﬁwzﬁrﬁﬁaﬁaﬁ '
ﬁ‘\‘ﬁ’ﬁ Q== &?ﬁm :

(ii1) Explam the fundamental dlfference between deductlve and mductlve arguments
with examples.-
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(iv)  Explain with the help of examples how an _argument is different from an
explanation? ‘

Wwﬁam@ %gﬁaﬁmwwaﬁﬁa‘?

. Attempt any three of the fc‘_)llowmg: : o - 4X3=12
Wﬁﬁ%ﬁﬂﬁmmwmu: ‘ c .

(i) ~Whatisa term" How is the denotatlve meaning of a term dlfferent from its
* connotative meaning? Discuss.

R am%‘?mqamﬁésr mwﬁ%mwﬁﬂﬁ?ﬁaﬂﬂaﬁm|

(i) In how many ways two people may agree or dlsagree about a phenomenon or a

situation? Discuss with examples.
aﬁmﬁaﬁmeﬁwqﬁﬁwﬁra‘»%ﬁ ﬁﬁﬁm@mﬁmmm%?mw
ﬂ%ﬁﬁﬁiﬁ’ﬂﬁﬁﬂl -

(i) Why deﬁmtlons are requ1red'7 Discuss any two types of aeﬁmtmns with examples. | _
qﬁswa%auamm_:ra’r%?uﬁsﬂm% W#Wﬁmﬂ%ﬁﬁﬁwaﬁﬁm

(iv)  State the three ba51c funcnons of language Whlch language use is the loglcians :
chief concern? -

W%ﬁﬂﬁmmaﬁm|wmmmmﬁ$fmgmﬁw?

. State the contraposmves of any two the followmg proposmons o l‘/z X2=3
forerferfRaa uﬁaﬁm’r (a'céawa’r) ¥ fadl Q@ @1 gRuRaEds ‘cﬁﬁﬂ . '

@) No martyrs_ were non-saints.

P ff wéT w7 2

C @) Al merchants are ndnépirates.
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(iii)  All non-philosophers are non-scientists.

) a—mfﬁas a—ﬁﬁrﬁas gl

. If "No socialists are pamﬁsts" is True what may be inferred- about the truth or falsehood -

of the following propositions? (do any two) - 2% X2=5
o P N weard) wifard T8 ¥ ¥F w9 ¢, ammﬁm/mem
-ﬁwmmwm?(ﬂiﬂﬁ) :

(1) Some Socialists are not non-pacifists.
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-(ii) . Some non-pacifists are socialists.

) Al pacifists are non-socialists.
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. Explain with example how quantlty and quality of categoncal proposmons deterrmne the

distribution of terms in those propositions.

Wmmﬁm%mﬁmaﬁw%wmmﬁmﬁwﬁaﬁﬁﬁm
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Can the Traditional square of opposmon be rescued by mtroducmg the blanket existential
presupposmon? Discuss with reference to existential i import.
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. Translate the following into standard categoncal proposmons (Do any three) 3

ﬁmﬁ-mwmmm#mm ﬁﬁé'cﬁ'—raﬁm)

1) Whales are not ﬁsheg
 ®od wefer wd §)

(i)  Snakes are not all poisohous.

T

(iii)  Only nch people can buy such expensive car.
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@iv) There' are no pink elebhahts. .
ﬂﬁ's‘ i g‘aﬁr gl 7 ¥

. (1) Test the va11d1ty/1nvahd1ty of the followmg using sylloglstlc rules and fallames (d0'

any one) - 5

m@ﬁa%ﬁmeﬁva&mmmaﬂﬁ@.ﬁwﬁrﬁaﬁaﬁéﬂm/mﬁqﬁmml(ﬁ?

Al supporters of popular government are democrats, so all supporters of popular
government are opponents of the Republican Party, in as much as all democrats

~ are opponents of the Republican Party.
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(i)
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Some philosophers are musicians, S0 'some scientists are musicans, since all

philosophers are scientists.

mmﬁamﬁmmﬁwﬁmwﬁaﬁﬁ &mﬁiwﬁmﬁ?ﬁaﬁlﬁﬂi?l

Test the vahdrty/Invahdlty of the following usmg syllogrstlc rules and fallacres

(Do any one)
wrgﬁaiﬁﬁmaﬁ'\raﬁﬁfﬁmaﬂﬁgq ﬁwﬁv@ﬁaﬁaam/aﬁwa%qﬁm
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- 8 () Test the valldlty/mvahdlty of the followmg by Venn Dlagram (Do any one)

5
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(ii)

h hence some courageous in v1duals -are'not aged perso‘, SR

No fighter prlots are agedA persons but all ﬁghter pllOtS are courageous md1v1duals

o wmauﬁaqamﬁﬂﬂé‘rﬁl

Some women: are not strong persons, because all mothers are strong persons, but

" some women are not mothers. -

Fo gl wea afdw 8 €, mmmwmﬁﬁ%’ aﬁﬂwmwﬁél

. Test the Validity/invahdrty of the following by Venn Dlagram, (Do any one)

3
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9. In what figure or’"ﬁgures if any, can a valid standard form cétegorical syllogism have‘two

particular premises?

fpa arpfy, ar smpfoar 4, uﬁaﬂ‘s‘s‘ra’r WWWWW#%WW@E& |
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Prove that the major premrss must be universal in both 1% and 2™ ﬁgure of a valid
syllogism.
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10. Explarn and illustrate any two of the following informal fallacies: 3%X2=17
(1)~ Begging the questlon o
T AL

(ii)  Fallacy of Composition - I

(iii))  Fallacy of false cause
freareRo <y
- @iv) Fallacy of converse accrdent
qﬁaﬁa ST 3y
11 Identrfy and explarn any two of followrng fallacies: N 4X2=8

mﬁ@%ﬁamﬁmﬁqwmz&mm

@ ,No one has proved that taking vitamins is good for health, therefore we conclude ,

~that taking vitamins is simply a waste of money.
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@) - All men are mortal Therefore some day, man will drsappear from the earth.
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(ii) The ambassador from Bangladesh had no rrght to complain about poverty in -

Indian: the conditions in his own country are no better than here.
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(iv) A mouse is an ammal therefore a large mouse is a large ammal
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